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E, 1 1.
Wt =w" +a"d
= _N E(W ) Descent gradient (BP)

dk = genencoperators Genetic Algorithms (GA)
NZE(Wk)dk = -N E(Wk) Hessian approx. (QNA)
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Before:
s = 1111010101
s, = 1110110101

After:
s, = 1110110101

s, = 1111010101

Before:

s, = 111011010
After:

s, = 111010101

Maintain best N
solutions in the
next population

/1

Extracts k individuals from
the population with uniform
probability  (without re-
Insertion) and makes them
play a “tournament”,
where the probability for an
individual to win s
generally proportional to its
fitness. Selection pressure
Is directly proportional to
the number K of
participants
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